SPARE PARTS DRAWING SHEET FOR

4.0KVA
Petrol Generator

Stock No.23984 Part No.PG43\/

3
120 oy
- 5 109
2 10 ; By
117
. ! 117
. i
772
77-1 773
a 76 o6 G
i 78 -3 110
R - 27 e, 57 74
RN T % s = 0% WY =
24-2 65 o i @101 S
T g3 (@ 58 113 "
s 64 62 59 69 ~ 100
24 60 T 3 = 132
70 o8
68 90 B9
81-4 | : a7 - . 133
Bl-1—%_ o ot -2 L2 89 3 - f—-1:1
PR 5 S 81-11 o 112 i ~ i Y,
81-2 b o - Biih 80 a8 =T e —
81-3 a b bl 91-1 l@
81-6 - ~ o
i a5 - ) g
B1=7 g1-8 81-9 [ 108 91-3
86 ]
a2 . a1
81 94 &‘ﬂ? 114
- Gl
102 4 126 129
%2 84 : 3
. 133 _ 101 .
115 s 139 L -~ B 128 ’3
3 o)
137 138 127 . 3
134 : - 140 y
: - 128 130
135
136 fﬁ} > a W 131
92

129

Help line:(023) 8049 4344. Sales Desk: (023) 8049 4333. General Enquiries: (023) 8026 6355.

DRAPER TOOLS LTD, HURSLEY ROAD, CHANDLER'S FORD, EASTLEIGH, HANTS. SO53 1YF. U.K.
KCUI1116

drapertools.com e-mail: sales@drapertools.com



SPARE PARTS LISTING SHEET FOR

4.0KVA
Petrol Generator

Stock No.23984 Part No.PG43\X/

(" )
KEY PART STOCK DESCRIPTION (',(\lEcI PRt STOCK DESCRIPTION )
1 YPG43W-01 53882 Recoil starter. 30 YPG43W-30 54469 Crankcase.
2 YPG43W-02 53900 Choke-way valve. 31 YPG43W-31 54476 Carburettor connection block.
3 YPG43W-03 53903 Air filter. 32 YPG43W-32 54481 Carburettor paper pad.
4 YPG43W-04 53905 O Clamp. 33 YPG43W-33 54486 Inlet paper pad.
5 YPG43W-05 53908 Exhaust pipe cover. 34 YPG43W-34 54501 Cylinder head cover gasket.
6 YPG43W-06 53910 | Choke assembly. 35 YPG43W-35 54554 | Valve spring lower seat.
7 YPG43W-07 53912 Reset spring. 36 YPG43W-36 54564 Cylinder head cover.
8 YPG43W-08 53920 | Speed bracket assembly. 37 YPG43W-37 54566 | Valve spring.
9 YPG43W-09 53921 Air filter paper pad. 38 YPG43W-38 54568 Intake valve spring seat.
10 YPG43W-10 53930 | Air filter bracket. 39 YPG43W-39 54570 Exhaust valve spring seat.
11 YPG43W-11 54048 | Exhaust pipe. 40 YPG43W-40 54571 Oil baffle cover.
12 YPG43W-12 54049 Intake studs. 41 YPG43W-41 54572 Rocker arm combination.
13 YPG43W-13 54052 | Governor arm assembly. 42 YPG43W-42 54574 | Intake valve.
14 YPG43W-14 54055 Fine-tune the speed of the spring. 43 YPG43W-43 54606 Spark plug.
15 YPG43W-15 54224 Governor Rod. 44 YPG43W-44 54619 Exhaust valve.
16 YPG43W-16 54242 Bearing 6206. 45 YPG43W-45 54630 Pusher.
17 YPG43W-17 54244 Seal of crankcase cover. 46 YPG43W-46 54633 Putting lead frame assembly.
18 YPG43W-18 54249 Flywheel. 47 YPG43W-47 54653 Exhaust valve cover.
19 YPG43W-19 54251 Flywheel fan. 48 YPG43W-48 54656 | Shroud assembly.
20 YPG43W-20 54277 Starting cup. 49 YPG43W-49 54660 Combination muffler elbow.
21 YPG43W-21 54278 | Ignition coil. 50 YPG43W-50 54668 | Nut M8.
22 YPG43W-22 54349 | Tappet. 51 YPG43W-51 54669 | Exhaust studs M8x35.
23 YPG43W-23 54352 Speed control lever. 52 YPG43W-52 54700 Intake gasket.
24 YPG43W-24 54353 Piston ring combination. 53 YPG43W-53 54715 Cylinder head assembly.
24-1 YPG43W-24-1 54355 Compression ring. 54 YPG43W-54 54718 Cylinder head positioning pin.
24-2 YPG43W-24-2 54401 Oil ring. 55 YPG43W-55 54737 Cylinder head pad.
24-3 YPG43W-24-3 54433 Piston ring 2. 56 YPG43W-56 54739 Crankcase paper pad.
24-4 YPG43W-24-4 54454 Piston ring 1. 57 YPG43W-57 54747 Crankshaft parts.
25 YPG43W-25 54457 | Speed control lever locking clamp. 58 YPG43W-58 54748 | Crankcase cover bezel 1.
26 YPG43W-26 54458 | Speed control lever washer. 59 YPG43W-59 54753 | Speed gear parts.
27 YPG43W-27 54459 | Oil alarm. 60 YPG43W-60 54761 Camshaft.
28 YPG43W-28 54460 Line clamp. 61 YPG43W-61 54774 Clamps.
\_29 YPG43W-29 54461 Single-conducting components. J \ 62 YPG43W-62 54775 | Piston pin. )

Help line:(023) 8049 4344. Sales Desk: (023) 8049 4333. General Enquiries: (023) 8026 6355.

DRAPER TOOLS LTD, HURSLEY ROAD, CHANDLER'S FORD, EASTLEIGH, HANTS. SO53 1YF. U.K. drapertools.com e-mail: sales@drapertools.com
KCUT116




SPARE PARTS LISTING SHEET FOR

4.0KVA
Petrol Generator

Stock No.23984 Part No.PG43\X/

(',(\,EJ PART STOCK DESCRIPTION h (',(\lEcI PRt STOCK DESCRIPTION )
63 YPG43W-63 54781 Piston. 82 YPG43W-82 55198 Muffler inner cover.
64 YPG43W-64 54822 Connecting rod. 83 YPG43W/-83 55201 Muffler cover.
65 YPG43W-65 54827 Piston pin retainer. 84 YPG43W/-84 55205 Muffler side baffle.
66 YPG43W-66 54828 Carburettor paper pad 2. 85 YPG43W-85 55274 Carburettor.
67 YPG43W-67 54829 | Cylinder bolt components Mé-g 10x60. 86 YPG43W-86 55275 Muffler.
68 YPG43W-68 54835 Muffler mounting frame. 87 YPG43W-87 55279 Motor tail cover.
69 YPG43W-69 54838 Dipstick. 88 YPG43W-88 55288 | Shock mount A, B.
70 YPG43W-70 54848 Crankcase block cover. 89 YPG43W-89 55291 Frame.
71 YPG43W-71 54853 Crankcase pin. 90 YPG43W-90 55293 Voltage regulator.
72 YPG43W-72 54872 Crankcase cover. 21 YPG43W-91 55294 Motor assembly.
73 YPG43W-73 54875 Oil pipe. 91-1 YPG43W-91-1 55295 Motor.
74 YPG43W-74 54890 Oil pipe clamps. 91-2 YPG43W-91-2 55296 Brush.
75 YPG43W-75 54918 Oil switch. 91-3 YPG43W-91-3 55297 Motor ground stud.
76 YPG43W-76 54931 Rubber tubing of oil pipe. 92 YPG43W-92 55298 Bolt M6x16.
77 YPG43W-77 54982 Fuel tank part. 93 YPG43W-93 55299 Non-metallic insert lock nuts M5.
77-1 YPG43W-77-1 55020 Fuel tank. 94 YPG43W-94 55301 Flat pad gb6xg16x1.5.
77-2 YPG43W-77-2 55062 Fuel tank cap. 95 YPG43W-95 55302 Flat pad @6x22x2.
77-3 YPG43W-77-3 55073 Gasoline filter. 96 YPG43W-96 55306 Flat pad @10x@20x2.
78 YPG43W-78 55075 Crankcase cover bezel 2. 97 YPG43W-97 55307 Tooth form gasket @5.
79 YPG43W-79 55092 Motor bracket. 98 YPG43W-98 55312 Bolt M5x12.
80 YPG43W-80 55102 Muffler pad. 99 YPG43W-99 55314 Bolt M5x16.
81 YPG43W-81 55103 Panel. 100 YPG43W-100 55326 Bolt M5x158.
81-1 YPG43W-81-1 55105 Switch. 101 YPG43W-101 55330 Bolt M6x12.
81-2 YPG43W-81-2 55107 Voltmeter cover. 102 YPG43W-102 55339 Bolt M6x14.
81-3 YPG43W-81-3 55118 DC terminal. 103 YPG43W-103 55346 Bolt M8x32.
81-4 YPG43W-81-4 55120 | Voltmeter. 104 YPG43W-104 55351 Bolt M6x25.
81-5 YPG43W-81-5 55129 Thermal protector. 105 YPG43W-105 55352 Bolt M8x16.
81-6 YPG43W-81-6 55164 Industrial socket 110V. 106 YPG43W-106 55353 Bolt M8x25.
81-7 YPG43W-81-7 55190 Circuit breaker. 107 YPG43W-107 55354 Oil drain plug M12x15x1.5.
81-8 YPG43W-81-8 55191 Industrial socket 230V. 108 YPG43W-108 55355 Bolt M6x12.5.
81-9 YPG43W-81-9 55193 DC post. 109 YPG43W-109 55362 Bolt M10x80.
81-10 YPG43W-81-10 55195 Panel body. 110 YPG43W-110 55363 Bolt M10x1.25x210.
él-l 1 YPG43W-81-11 55197 Panel back cover. ) \l 11 YPG43W-111 55364 Nut M16x1.5. )

Help line:(023) 8049 4344. Sales Desk: (023) 8049 4333. General Enquiries: (023) 8026 6355.

DRAPER TOOLS LTD, HURSLEY ROAD, CHANDLER'S FORD, EASTLEIGH, HANTS. SO53 1YF. U.K. drapertools.com e-mail: sales@drapertools.com
KCUT116




SPARE PARTS LISTING SHEET FOR

4.0KVA
Petrol Generator

Stock No.23984 Part No.PG43\X/

('f\,Eg PRt STOCK DESCRIPTION ) (',(\IEC}(_ PRt STOCK DESCRIPTION )
112 YPG43W-112 55366 Nut M10. 127 YPG43W-127 55624 Support feet, frame.
113 YPG43W-113 55369 Shells pad @5. 128 YPG43W-128 55625 Wheel axle.
114 YPG43W-114 55372 Shells pad 6. 129 YPG43W-129 55626 Wheel.
115 YPG43W-115 55476 Starting motor. 130 YPG43W-130 55629 Nut M6.
116 YPG43W-116 55477 Oil drain plug washer. 131 YPG43W-131 55635 Rubber mat.
117 YPG43W-117 55479 Battery 9Ah. 132 YPG43W-132 55636 Side panel.
118 YPG43W-118 55521 Pendulum seal. 133 YPG43W-133 55638 Bolt M6x12.
119 YPG43W-119 55539 Governor arm fastening bolt M6x21. 134 YPG43W-134 55648 Battery line.
120 YPG43W-120 55606 Reel nut M6. 135 YPG43W-135 55654 Battery line.
121 YPG43W-121 55610 Bolt M8x40. 136 YPG43W-136 55656 Battery strap.
122 YPG43W-122 55612 Rubber of handle. 137 YPG43W-137 55658 Rubber, charge oil.
123 YPG43W-123 55614 Handle pouches. 138 YPG43W-138 55734 Charge coill.
124 YPG43W-124 55616 Handle plug. 139 YPG43W-139 55735 Press block.
125 YPG43W-125 55619 Bolt M8x35. 140 YPG43W-140 55736 Bolt M6x28.
\1 26 YPG43W-126 55622 Nut M8. JAN )

Help line:(023) 8049 4344. Sales Desk: (023) 8049 4333. General Enquiries: (023) 8026 6355.

DRAPER TOOLS LTD, HURSLEY ROAD, CHANDLER'S FORD, EASTLEIGH, HANTS. SO53 1YF. U.K. drapertools.com e-mail: sales@drapertools.com
KCUT116




